DANISH ACADEMY

Kot Haibat DGK 03467300010
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1- Circle the correct answer.

L. The knowledge that provides understanding of this
world, is called:
Physics /% (D)
2. What is the formula mass of ZnS0,?

Biology (.44, (O

(9x1=9) -Jf o1/ Z:?Ai. e -1

_L¢L~M9r/u?;ﬁbKé’fg;wzH‘u 1

Chemistry u’/‘{/ (B) Science L (A)

S VU280, 2

150 (D) 140 (O) 161 (B) 160 (A)

3. Majority of the elements exist in the form of: ?%élgégu:;)(,‘j‘/ga}%( von 3
Metalloids ;4 (D) Solid # (Q) Liquid éL (B) Gas J.f (A)

4. Which is an example homoatomic molecule? ?%JIJ@JJ;fL_ﬂlrn 4
03 (p) CH, () H,S0; () COs (p)

5. Molecular mass of H,O is: :9JU5§’WH20 S
20 amu (D) 20g (©) 18 g (B) 18 amu (A)

6.  The molar mass of H,SO, is: e Ul/»§H,yS0, 6
9.8amu y£. 9.8 (D) 9.8 grams f’/9'8 © 98 amu 4198 (B) 98 grams (1f98 (A)

7. No. of moles in 6.0 g water is: ‘Lgfiml»?gfﬂruf&grl/ﬁo 7
0.65 (D) 0.50 (©) 0.33 (B) 0.25 (A)

8. Which one of the following pair has the same mass? ?‘L/'l/"jl,(‘j:uK/Iéz.ﬁﬁ‘f(c;uﬁi}’an 8

1 mole of CO and 1 mole of CO, (B)
1 mole of O, and 1 mole of CO, (D)

9. Number of moles of carbon in 4 gram coal is:
0.75 (D)
2- Answer the following questions.

i In which branch of chemistry the metabolic processes
carbohydrates and proteins are studied?

ii. Name a solid, a liquid and a gaseous element that exists
at room temperature.

iii.  How to write a chemical formula?

iv.  What is the difference between cation and Anion.

V. What is difference between ion and free radicals?

vi.  Differentiate between gram atomic mass and gram
molecular mass.

vii.  Define Avogadro's Number.

viii. How many atoms are in Tamu and 1g of hydrogen?

ix. How many moles are present in 40 grams of phosphoric
acid?

Attempt following questions in detail.

3(a) Define industrial chemistry and analytical chemistry.
Write their use.

(b) How many protons and neutrons are there in an atom
having A = 238 and Z = 92?

1 mole of CO and 1 mole of N, (A)
1 mole of O, and 1 mole of N, (C)
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(b) Calculate the ass OI 2.05 x 10 olecules o 112504 vi"( ¥ JLK} 212.05 x 10 LH 35()4 h
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